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QUESTION 1

Karenf a network administratorf has made changes to the DHCP leasing setup for a given network and is expectng all
devices to recogniie the changes shortly. Howeverf afer a full weekf none of the machines on the company network are
grabbing new addresses with the new lease tme. Which of the following is the problem?

A. The lease tme on the original confguraton was too long.

B. The frewall was never confgured to recogniie the changes.

C. The DHCP server was never restartedf so changes never took afect.

D. The lease tme on the original confguraton was too short.

Correct Answer: A

QUESTION 2

Which of the following ports would have to be allowed through a frewall for NTP to pass on its default port?
A. 123

B. 143

C. 153

D. 163

Correct Answer: A

QUESTION 3

Zachf the network administratorf has just fnished installing a new 10/100/1000 switchf but receives reports from the
server administrator that servers connected to the new switch seem to be experiencing slow LAN connectons. Zach
checks the port connectng the new switch to the core switch and sees the following informaton: #show run interface
GigabitEthernet0/10 Switchport trunk encapsulaton dotlq Switchport mode trunk Switchport trunk natve VLAN 10 Which
of the following is the MOST likely cause of the slow connectons?

A. The servers have not had VLAN tagging enabled on their NICs.

B. Speed and duplex have not been set.

C. VLAN tagging was not set on the trunk.

D. The servers have been connected with CAT5 cable.

Correct Answer: B

QUESTION 4
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A company is about to install a second network connecton with a new ISP. Which of the following routng protocols is the
BEST choice?

A.1S-IS
B. BGP
C. OSPF
D.RIP

Correct Answer: B

QUESTION 5

Kimf a network administratorf should consult which documentaton sources FIRST to determine the cause of recent
network issues?

A. Network map

B. Cable management
C. Change management
D. Asset management

Correct Answer: C
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